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1.1 #A ANSYS

2/ —ANSYSED 6.1 —Interactive —change the working directory into
yours —input Initial jobname: beam—Run
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ANSYSMain Menu: Preferences —select Sructural — OK

1.3 EFEHIuRAY

ANSY S Main Menu: Preprocessor —Element Type—Add/Edit/Delete... —
Add... —select Beam 2 node 188 —OK (back to Element Types window) —
Close (the Element Type window)
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ANSYS Main Menu: Preprocessor —Material Props —Materiad Models —



Structural —Linear —Elastic —Isotropic —input EX:2.1€el1, PRXY:0.3 — OK

1.5 & XA

ANSY S Main Menu: Preprocessor —Sections —~Beam —Common Sectns —
399 SCHT AR 548 A0 Ty JE AT . AE A RID=1,8=0.1, H=0.15 —
Apply —[A#1f: 1D=2,R=0.1 —Apply — LFE#If: 1D=3,w1=0.1, w2=0.1,
w3=0.2, t1=0.0114, t2=0.0114, t3=0.007 —OK
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ANSYS Main Menu: Preprocessor —Modeling —Create —Keypoints —In
Active CS — K I N =/ miffAAF5R: input:1(0,0),2(10,0),3(5,1) —OK

ANSYS Main Menu: Preprocessor —Modeling —Create —Lines —lines
—Straight lines —JER P MFAE A, 1(0,0),2(10,0) —~OK

1.7 WIRERIG

ANSY S Main Menu: Preprocessor —~Meshing —~Mesh Attributes —Picked
lines ~OK —k4%: SECT:1 CHRI It v 5K 42 ()8R THIIE £ 9% 5 ) ; Pick Orientation
Keypoint(s):Y ES—#4HL: 3™%1L 145 (5,1) —OK—>Mesh Tool — Size Controls) lines:
Set —Pick All(in Picking Menu) —input NDIV:5 —OK (back to Mesh Tool
window) — Mesh —Pick All (in Picking Menu) — Close (the Mesh Tool
window)
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ANSYS Man Menu: Solution —Define Loads —Apply —Structural —

Displacement — On Nodes —pick the node at (0,00 - OK — sdect UX,
UY,UZ,ROTX — OK
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ANSYS Man Menu: Solution —Define Loads —Apply —Structural —
Displacement — On Nodes — pick the node a (10,00 — OK — sdlect

UY,UZ,ROTX — OK
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ANSYS Man Menu: Solution —Define Loads —Apply —Structural —
Pressure = On Beams —Pick All =—VALI1:100000 — OK
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ANSYS Man Menu: Solution —Solve —Current LS —OK(to close the
solve Current Load Step window) —OK
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ANSYS Man Menu: General Postproc — Plot Results — Deformed
Shape... — select Def + Undeformed —OK (back to Plot Results window) —
Contour Plot —Nodal Solu —sdect: DOF solution, UY, Def + Undeformed |
Rotation, ROTZ ,Def + Undefor med—OK
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ANSY S Utility Menu: File— Exit —Save Everything—OK

(1) S 45 R AL
SEICRI B AL T I A, o TS B A T H o B, 0 =Pl
THIAS R I GEEAT 70 BT UG, 58 S BR AR 35



